GN 817
2 B

- BB BN RAK,

- ELEDRRA,

8 B R B A (PA) R R SOR A A8, T840 R 1L s (B, BK
R), ®OER . VL. kAR E AR R
REREETARRRAEM N, TAMERERAC, CKR), W
AL AL, A R R A

RAE (G, CKR), TREF P ERAe e, =K HE

v |48 R AL,
i

EEat BB LEE,
GN 8174 EHEA T A
- SN EHOHERAR M A7),
—BfuCH /R ~TI7HH,
Y —swrEcn)BsERL,
R -EamERV I REESKE.
CATEHATRERA, ATHAA AT EHART A REENE TS, B %l BK #!
Frih, AL THHFRS, #REHE°, BEHA -1 Mo, UF (4 45 30 FF 45)
o E#ETIRBIEAFRI TR AR, 5
. | @
@_1_®
—
' Pu i
I — |
= |
! g
=.-d-lI -
) A i ER wEEH | B2
B 2 d=% | & d d D | lmm 2 1B 1 s T[%Ef ﬁﬁﬁfﬁ -
GN 817-4-4-B 4 19 M8x1 - - 16 16 4 5 10 45 12 11
GN 817-4-6-B 4 19  M8x1 . 16 16 6 5 10 4 125 | 11
GN 817-5-5-B 5 22 MIOX1 - - 19 18 5 6 12 5 15 19
GN 817-5-8-B 5 22 MIOx1 - . 19 18 8 6 12 5 18 19
GN 817-6-6-B 6 26 M12x15 - - 23 22 6 6 14 6.5 19 32
GN 817-6-9-B 6 26 M12x15 - .23 2 9 6 14 6 25 32
GN 817-8-8-B 8 32 M16x15 - . 28 26 8 8 17 8.5 26 68
GN 817-8-12-B 8 32 M16x15 - .28 26 12 8 17 8.5 28 67
GN 817-10-12-B 10 32 M16x15 - . 28 26 12 8 17 9.5 38 69
GN 817-4-4-BK 4 19 M8x1 - . 16 16 4 5 10 45 12 12
GN 817-4-6-BK 4 19 M8x1 - . 16 16 6 5 10 4 125 | 12
GN 817-5-5-BK 5 22 MIOX1 - - 19 18 5 6 12 5 15 20
GN 817-5-8-BK 5 22 MIOX1 - - 19 18 8 6 12 5 18 20
GN 817-6-6-BK 6 26 M12x15 - .23 2 6 6 14 6.5 19 33
GN 817-6-9-BK 6 26 M12x15 - .23 2 9 6 14 8 25 33
GN 817-8-8-BK 8 32 M16x15 - . 28 26 8 8 17 8.5 26 69
GN 817-8-12-BK 8 32 M16x15 - . 28 26 12 8 17 8.5 28 69
GN 817-10-12-BK 10 32 M16x15 - .28 26 12 8 17 9.5 38 71

@ Ielemnu'l‘in“ “ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.




C# CK # G# GK #

(77 W7 %0 i, JT 4 (7 15 % it 7T 4H)
e ¥ 90°)

WL i
I

[, S e T e

L
T

5 S e e S e
T . . -

i 0 i =R WwEESH | B2

i d =% | d d2 d3 D R S 13 s s ’{’Eﬂs ﬁ[ﬁ g
GN 817-4-4-C 4 19  M8x1 - - 16 16 4 5 : : 10 4.5 12 12
GN 817-4-6-C 4 19  M8x1 - - 16 16 6 5 : : 10 4 12.5 13
GN 817-5-5-C 5 22 M10x1 - - 19 18 5 6 : : 12 5 15 21
GN 817-5-8-C 5 22 M10x1 - - 19 18 8 6 . . 12 5 18 22
GN 817-6-6-C 6 26 M12x1.5 - - 23 22 6 6 - - 14 6.5 19 35
GN 817-6-9-C 6 26 M12x1.5 - . 23 22 9 6 - - 14 6 25 36
GN 817-8-8-C 8 32 M16x1.5 - - 28 26 8 8 . . 17 8.5 26 73
GN 817-8-12-C 8 32 M16x1.5 - - 28 26 12 8 - - 17 8.5 28 71
GN 817-10-12-C 10 32 M16x1.5 - - 28 26 12 8 : : 17 9.5 38 74
GN 817-4-4-CK 4 19  M8x1 - - 16 16 4 5 . . 10 45 12 13
GN 817-4-6-CK 4 19  M8x1 - - 16 16 6 5 : : 10 4 12.5 13
GN 817-5-5-CK 5 22  M10x1 - - 19 18 5 6 : : 12 5 15 22
GN 817-5-8-CK 5 22 M10x1 - - 19 18 8 6 - - 12 5 18 22
GN 817-6-6-CK 6 26 M12x1.5 - - 23 22 6 6 : : 14 6.5 19 36
GN 817-6-9-CK 6 26 M12x1.5 - - 23 22 9 6 - - 14 6 25 37
GN 817-8-8-CK 8 32 M16x1.5 - - 28 26 8 8 . . 17 8.5 26 75
GN 817-8-12-CK 8 32 M16x1.5 - - 28 26 12 8 - - 17 8.5 28 72
GN 817-10-12-CK 10 32 M16x1.5 - - 28 26 12 8 - - 17 9.5 38 77
GN 817-4-4-G 4 19  M8x1 M3 7 16 16 4 5 45 25 10 45 12 10
GN 817-4-6-G 4 19  M8x1 M3 7 16 16 6 5 45 25 10 4 12.5 10
GN 817-5-5-G 5 22 M10x1 M4 8 19 18 5 6 55 3 12 5 15 17
GN 817-5-8-G 5 22 M10x1 M4 8 19 18 8 6 55 3 12 5 18 17
GN 817-6-6-G 6 26 M12x1.5 M5 9 23 22 6 6 7 35 14 6.5 19 29
GN 817-6-9-G 6 26 M12x1.5 M5 9 23 22 9 6 7 35 14 6 25 29
GN 817-8-8-G 8 32 M16x1.5 M6 10 28 26 8 8 85 4 17 8.5 26 61
GN 817-8-12-G 8 32 M16x1.5 M6 10 28 26 12 8 85 4 17 8.5 28 60
GN 817-10-12-G 10 32 M16x1.5 M6 10 28 26 12 8 8.5 4 17 9.5 38 62
GN 817-4-4-GK 4 19  M8x1 M3 7 16 16 4 5 45 25 10 45 12 11
GN 817-4-6-GK 4 19  M8x1 M3 7 16 16 6 5 45 25 10 4 12.5 11
GN 817-5-5-GK 5 22 M10x1 M4 8 19 18 5 6 55 3 12 5 15 18
GN 817-5-8-GK 5 22 M10x1 M4 8 19 18 8 6 55 3 12 5 18 18
GN 817-6-6-GK 6 26 M12x1.5 M5 9 23 22 6 6 7 35 14 6.5 19 30
GN 817-6-9-GK 6 26 M12x1.5 M5 9 23 22 9 6 7 35 14 6 25 30
GN 817-8-8-GK 8 32 M16x15 M6 10 28 26 8 8 85 4 17 8.5 26 62
GN 817-8-12-GK 8 32 M16x15 M6 10 28 26 12 8 85 4 17 8.5 28 62
GN 817-10-12-GK 10 32 M16x15 M6 10 28 26 12 8 85 4 17 9.5 38 64

“‘ELESA” and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘elesaGANTER




